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(b) WIS TS
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(a) TG (b) S

(c)'a' S 'p Sl (d) T3 =

UNE T8l TST Bl 22

(a) TSTEITT (b) T IS

(c) T &30 (d) TfEm et

21 FEER, 2012 H ARAT SATrE! e 9§ ger?
(a) Sfera (b) TSI

(c) TgaT = firfh (d) =Iretve

SIS AFET TIae el fud 22

(a) TEATE (b) Tereiidig

(c) &4 (d) frem
dgdiemE J R “ad 2011-12 H1 9T Ghhet” gEmfaa
F & foaw Tifea fwan?

(a) AT TMerEeht (b) SETH TEHIT

(c) faie el (d) Jaus iz

TR feaw’ e T S R 2
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(a) e FARG (b) WS =T
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faere i)
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(SISt 20.69%)

99. THY TRA-STHIEHT BIH HH-2011 el SN g8 ot ?
(a) gl QEERIER
(c) gsH (d) AESifean
100. TE F geg Fel g& A?
(a) 01 (b) HATETE
(c) FEHTA (d) GrTE

RATHR TS

101. 3 37! ' frdl S 3R 39 37 H HTH H g5 W
TS TS A % a9 IR Ha [T a @
(@)10"  (b)9H ()11 9

102. &A1 323 % T UGS &

()@ (p) T (3 (d) A

103. Ueh TR H & Yoo & | TRl Yo 3ehell 2131 i 9 e
# TeIT T AT © AR HY TR STehell 6 e § o a1 B |
Ffe gan fua 7fq T Feel, @ H1 dor fiyetet 39 fohem
T H Rt F A ?

1
(a) 15 e

(d)6 ¥

(b) 3% e
(c) 3% fome (d) 421 fie

104. 8 31EH 12 Tl Teh HH & 16 6F § H GHhd 2 1 20
A 3R 6 FIH B g8 FH QW B § fHaqd A
I ?

(@55 (8]

105. 4 3R B e TF & 12 &9 § ¢ 9 & ol B 3R
C st 16 o7 § o Tha &1 4 g0 39 W 5 o 3 B
ZW 7 f& & & a1k ¢ A 39 13 fam § qu R femm B 3w

1 1
(b) 63 (d) 73

W &I fohe fa7 § QU F g a1?
(a) 48 T (b) 24 fe=
(c) 16 fe (d)12 f&a

106. a, b, ¢ =T aTel 9 99 TH-TW F T T T B
F1 39 F5l Bl S a9 B H G 8
(a)J(a+b+c)abc
(b) (a+b+cWab+bc+ca
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108. T I FI SN 4B T4 CD, E W Ffaeas Hdl € 31k Th-gm
WS & | WUS AE, EB 3R ED a9 2 T, 6 9t aer 3 9
TS % §, A g4 % oA & o, S A @

(a) 65 (b)%\@ (c) 65 (d)%

109. o< & & 19 W & WY & forw U fowhar U wo Ay
A1 10% H B H o, 27 v A A H o s
Tl =, fpeaH quiies @ ?

(a) 3 (b) 6 ()7 (d) 8

110. T &l TR S H $1600 § G T &= TR & 1Y
S T W F 2400 = fhw W) TE H 39 ¥ 7800 H
foreht o feru fermmfa fepam a1 afX 1 0% &t &2 & 7 &1, @ stfvia
BENGRCIER
(a) 55% (b) 685%

(¢) 75.5% (d) 80%

111. U GhER HIE 96 & 450 H Tl 81 98 39 W 5 Jed 4
209% 3fe 3ifehd F3a1 21 39 5 & T IV T J HIRT
I 9% 39 I H T 496.80 H 9|
(a) 8% (b) 9%

(¢) 10% (d) 12%

112. T 99 1 86t 35! Frea & arf & srquferss 21 5 aeft Fra
Tt 92 9 % iR 3 I e aren S ST g7 dier @ R |
TIeR SF & &% 1 9 99 & aa%hd & 99 SUA I
FINTT| (TIER 59 &1 9% 9 90 & &96d 3R 31 99 &
&Rl o S 3R BT 1)

(a)9 : 16 (b)9 : 25
(c) 16 : 25 (d)16 : 27

113.@aﬁﬁrﬁaﬁﬁ§ﬁwém7%m,%ms%mﬁxﬁﬂ

10% R farer fopar | afs sue aifiiss sma % 561 8, a1 4oft 21
(a) & 5400 (b) & 6000

(c) ¥ 6600 (d) & 7200

114, T 3R 39 & Fedi & 379 3 17 a9 ¢ 57 6 77 A g
IR S8 el 1 A 3T 16 a9 81 A W A g 33 A9 2,
ST g A eg ot | 2
(a) 31 (b) 32 (c)35  (d) 30

115, HaTghd W TH STEH F I Fa1 & 1faq 3 9§ & N
ST I F MY % e g1 IFH I 1-1-1983 F & 380
fd W18 971 1-10-83, 1-10-84 T 1-10-85 & & 40 H g
& | AT 7 1-1-86 FT AITIT g &, A I e T
firerc 22
(a) & 205 (b)® 215
(c) % 225 (d)% 230

116. T ARG 7 76 M @I 3R 20 T 15% A9 |, 40 T
19% W9 W 3R ¥ 16 T 25% @9 W 99 & | 39 A &
6570 S T | & T B T T &
(a) ¥ 450 (b) T 425

(c)® 420 (d) % 400
117. Tt =l &1 U ST 30% a1 & T 81 &k S &
T & fow golt oo fopet s gir?

10 0,

(a)231—3A) (b) 76%

(c) 30% (d) 15%
118.mﬁﬁﬂmﬁ1zooﬁ?¢rwﬁeﬁm<ﬁmm@j

%wﬁwﬁ%mw@mﬁ:mmal
Y & ) T A g (R ) o

(a) 480 (b) 800
(c) 1600 (d) 1800

119. U U et =R o @) ST @ S 100 # Rl AR
et 8 fome & 1 el s e =R 10 fme # 1 fEd A
I F THS I F TEel IW 5 99 A E g ©
(a) 350 Ht (b) 400 Ht
(c) 320 Ht (d) 420 4

120. T 3TEHN 10% Fshgfg AT WE 21000 T F0T oAl
2180 aY & 37 H Y Ser ot T <t gl fh < a9

# FOT BT A & ST ?
(a) & 12000 (b)%& 12100
(¢)® 12200 (d) & 12300
4433
121.2rl%m A+B, W B-4%
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2
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ENGLISH COMPREHENSION

Directions : (151-155): In the following questions, some parts of the

sentences have errors and some have none. Find out which part of a

sentence has an error. The number of that part is your answer. If a

sentence is free from error, then your answer is (4). i.e. No error.
151.0ur history can be seen as a long evolutionary dialectical development
(a)/in which there have been (b)/ a painstaking forging of rational
and moral self (c)/No error (d).

152.0ur knowledge of history does not come to (a)/ our help and some
times we even fail to (b)/ remember who invented America(c)/ No
error (d).

153.My grandfather owns(a)/fifty acre(b)/ of wetland (c)/ No error (d)

154.Belgiun chocolate is considered (a)) by many to be
finer(b)/than any others in the World(c)/ No error (d)

155.Indian scientists are in no way (a)/ inferior than (b)/ any other
scientist in the world. (c)/ No error (d)

Directions (156-160): In the following questions, sentences are given
with blanks to be filled in with an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct alternative out of the four
as your answer.

156.We didn"t___

(d) 2

the programme to be such a huge success.

(a) Except (b) Expect (c) Access (d) Accept
157.We should ___ opportnities as they arise.

(a) Cease (b) Size (c)Sneeze (d)Seize
158.The students aren“t prepared _____ the examination.

(a) To listen (b) to work (c) To take (d) To give

159.The government, in a bid to make Bihar, a preferred investme nt

destination, has ____major schemes to create infrastructure at

different stages.

(a) Opposed (b) Opened (c) Pushed
160.1 suffer from no___ about my capabilities.

(a) Doubts (b)Halluciantions (c) Imaginations (d)Illusions
Directions: (161-165): In the following questions, out of the four
alternatives, choose the one which best expresses the meaning of the
given word as your answer.
161.Inadvertent

(a) Unexpected

(¢) Undisturbed
162.Fortitude

(d)Launched

(b) Unintentional
(d) Ignorant

(a) Courage (b) Protection (c) Safety (d) Similarity
163.Duplicity

(a) Artlessness (b) Deceit (c) Cleverness (d) Repetition
164.Fidelity

(a)Resourcefulness (b) Strength

(c) Weakness (d)Faithfulness
165.Vanguard

(a) Officer (b) Flag bearer (c) Pioneer (d) Race driver
Directions (166-170): In the following questions, choose the word opposite
in meaning to the given word as your answer.
166.Taciturn

(a) Silent (b) Talkative (c) Immense (d) Judge
167.Artisan

(a) Skilled sculptor (b)learned person

(c) Ignorant villager (d) Unskilled labour
168.Amicable

(a) Friendly (b) Haughty
169.Mitigate

(c) Unpleasant(d) Hostile
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(a) Aggravate (b) Allay (c) Alleviate (d) Abate
170. Aversion

(a) Awareness (b) Hatred (c)Liking (d) Avoidance
Direction (171-175): In the following questions, four alternatives are given
for the Idiom/ phrase printed in bold in the sentence. Choose the
alternative which best expresses the meaning of the idiom/ phrase as your
answer.
171.He was out of spirits for a few days after his defeat.

(a) Gloomy (b) Sober (c) Lifeless  (d) Uninvolved
172.When the family in the next house packed off at midnight, I began to

smell a rat.

(a) To suspect a trick (b) To misunderstand

(c) To see hidden meaning (d) To smell a bad smell
173.At first, there was a show of resistance to the new rule issued by the

Government, but the movement had no backbone and speedily

collapsed.

(a) Justification (b) Impact  (c) Strength  (d) Support
174.The cops were on their toes throughtout the day.

(a) Eager (b)Alert (c) Harried (d) Quick
175.The minister assured the agitating employees that he would look

into their demands sympathetically.

(a) Discuss (b) Watch (c) Grant (d) Examine
Directions (176-180): In the following questions, a part of the sentence
is printed in bold . Below are given alternatives to the bold part at (1), (2)
and (3) which may improve the sentence. Choose the correct alternative.
In case no improvement is needed. Your answer is (4).
176.The prolific writer"s work is published every year.

(a) Exquisite (b) Didactic (c) Great (d) No improvement
177.Those plucking flowers are liable for punishable.

(a) Are liable for punishable  (b) Are liable for punishing

(c) Are liable to be punished (d) Are viable for punishment
178.His lust for power brought about his downfall.

(a) Intense desire (b)Desire for power

(c) Desire for sex (d) No improvement
179.1"ll meet theraging of the skies, but not an angry father.

(a) Sunshine (b) Rain (c) Anger (d) No improvement
180.When we see black smoke near the wing of the plane, we were

certain that disaster was imminent .

(a) When we were seeing (b) When we saw

(c) When we had seen (d) No improvement
Directions (181-185): In the following questions, out of the four
alternatives choose the one which can be substituted for the given
words/sentence.
181.Government by a small group of all powerful persons

(a) Monarchy (b) Democracy (c) Anarchy (d) Oligarchy
182.0ne indifferent to art and literature is

(a) Critic (b) Philistine (c) Scholar
183.0pen to injury or criticism

(a) Vulnerable (b) Naive (c) Sensitive  (d) Invincible
184.0ne who collects coins as a hobby

(a) Ornithologist (b) Statistician (c)Numismatist ~ (d) Philatelist
185. A narrow piece of land connecting two large masses of land

(a) Isthmus (b) continent (c) Gulf (d) Peninsula
Directions (186-190): In the following questions, there are foru
different words out of which one is correctly spelt. Find the correctly spelt
word as your answer.

(d) Aromantic

186.(a) Beneficil (b) Beneficial (c) Benifical ~ (d) Benificial
187.(a) Averisious (b) Avaricious (c) Avaricious  (d) Averisious
188.(a) Internaly (b) Coldly (c)Fortunetely (d)Uniquely

189.(a) Affectionately (b)Afectionately (c) Affectionnality(d) Affactionately
190.(a) Apprehension (b) Apprihension(c) Apprihension (d) Apprehenson
Directions (191-200): In the following questions, you have two brief
passages with 5 questions following each passage. Read the passages
carefully and choose the best answer to each question out of the four
alternatives and.

Passage- 1

Question Nos 191-195
If this is so, if to read a book as it should be read calls for the rarest
qualities of imagination, insight and judgement. You may perhaps
conclude that literature is a very complex art and that it is unlikely that we
shall be able, even after a life time of reading, to make any valuable
contribution to its criticism. We must remain readers, we shall not put on
the further glory that belongs to those rare beings who are also critics.
191.What is the opinion of most of the people about literature?

(a) That it is not an easy one to contribute anything.

(b) That it is to some extent difficult to understand.

(c) That no contribution is necessary for literature.

(d) That it is very easy to understand
192.The antonym of conclude is

(a) Commence (b) Exclude (c) End (d) Include
193.According to the author

(a) It is not possible for most of us to contribute anything for criticism

(b) It is possible to do something

(c) It is not even easy to under stand literature

(d) Most of the people can contribute to criticism of literature
194.The author feels that we cannot have the greatness of

(a) Writers (b) Critics (c) Publishers (d) Readers
195.What are the qualities required for reading a book?

(a) Proper judgement (b) Imagination

(c) Imagination, insight and judgement

(d) None of the above

Passage — II

Question Nos. 196-200
These days not even many politicians deny that the oceans are ill.
Protecting the health of coastal waters is now a matter of national policy in
dozens of countries including the U.S. and world leaders are beginning to
prescribe a revolutionary remedy that conservationists have been
promoting for years: marine planning and zoning.
The Idea is a natural extension of management policies that have guided
the development of cities and landscapes for nearly a century. Zoning
advocates envision a mosaic of regional maps in which every watery
space on the planet is designated for a particular purpose. Drilling and
mining would be allowed only in certain parts of the ocean; fishing in
others. The most critically threatened areas would be virtually off-limits.
Whereas people can easily find maps telling them what they can do where
on land, the marine realm is a hodge-podge of rules emanating from an
army of agencies, each one managing a single use or symptom.
196.Marine planning and zoning is a _____ to protect the coastal waters.

(a) Conservationists" discovery

(b)Marine project

(c) Revolutionary remedy

(d) National policy of the US
197.These days ____that the oceans are not in good health.

(a) Most of the politicians agree (b) All politicians agree

(c) Nobody agrees (d) Everbody agrees
198."“Marine realm"“ is a hodgepodge of rules means

(a) Seas need to be cleaned

(b) There are no uniform laws governing the seas.

(c) there is total anarchy

(d) Critical areas are not being looked after properly
199.Seazoning is all about___.

(a) Drilling and sea mining.

(c) Banning fishing in the sea

(d) Dividing watery space for specific purposes
200.“Conservationist* means______

(a) A marine engineer. (b) One who looks after others

(c) One who prevents something from destruction

(d) A proficient speaker

(b) Conserving the environment
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